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= 36,001
Al 3,306,311
FQAM Med 22 (L3 /LerEd) 638,397 618,877 19,520
NEEE 638,397 618,877 19,520
ANEEE 638,397 618,877 19,520
201 et 570,147 559,127 11,020
01 AtS 22/l 554,130 543,830 10,300
OEUME =2 10,000 * 1205 = 128 14,400
OAlE &2t 300,000& =+ 802l 24,000
OAIE D15 &2l 16,450
—HICIQH0Z 2 10,000& * 5004 500
— 300 #¢ 2,500& = 50004 1,250
—HICIQHOIZ(EZZ) 27,000 * 1004 2,700
—ghA3(82&) 90,000& * 404 3,600
—AHE QletE 700,000& = 12& 8,400
OZEEHOE 52 4,000& » 104 » 123 480
O322 w2l 74 12,800
—XAXdHE 11Z 6,000 » 1502 » 128 10,800
—JIEt 1,000,000& * 22| 2,000
OANEEERE ZDS(XNEAI)
2,000,000& * 15JHAL * 43] 120,000
ONBER ZDS(NHMS S)
1,000,000& * 40HAlL * 43| 16,000
OANHEBZINZ(ELX ,AHUME EXIES)
2,500,000& * 109HAL » 23] 50,000
ovgs 98 300,000,000& * 1A 300,000
02 23234l 16,017 15,297 720
OA238ItAH AIEZ 260,000& = 123 3,120
OA&&EHl XYl 11,897
—sS&J10I 140,000 = 2CH 280
—Jt0 et 50,000& * 5CH 250
—YSAE 148,000& = 6CH 888
—HICI2ItHIeH (&)
25,240,000& = 3/100 = 2CH 1,515
—HICI23tHIeH(H)
130,000,0002 * 3/100 * 2CH 7,800
—COXE 3tiiet 2,990,000& = 3/100 = 2CH 180
-2z SE& 5,800,000 * 3/100 174
—HICIQERAME 27,000,000& = 3/100 810
OAN&EH B2 1,000,000& * 14 1,000
203 HRF&Hl 5,000 5,000 0
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&2 AEEE (ctel: &
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03 AIERQ2 =AY 5,000 5,000 0
OFQAM 25 oz
5,000,000& = 14 5,000
307 QI2t0IA 40,000 40,000 0
02 2ItBAE X 30,000 30,000 0
OZ NS ES 2 X&  30,000,0008 * 14 30,000
04 QIHHALE X 10,000 10,000 0
OHEe =& XNYEE A izl X&
10,000,000& * 1A 10,000
405 KH&HFESHI 23,250 11,750 11,500
01 TN ESHSHI 23,250 11,750 11,500
O2Y g4 e wH 18,000
-z 9 18,000,000& = 14 18,000
OtIti23thlet 255 24 5,250
—O{etel s ZHHH 2,900,000& = 1K 2,900
— Q0= & 01012 2 350,000& * 14 350
—biE el 250,000 * 2K 500
—24d0I01as40] 2 1,500,000 * 10K 1,500
HESAIY (LD DT /YBHE ) 2,180,647 2,327,312 A 146,665
= 62,806
= 23,740
Al 2,094,101
HEY HE FA 1,943,846 2,157,285 A 213,439
= 56,206
Al 1,887,640
HPMA 2e] KX 801,526 828,880 A27,354
201 Let2d| 741,732 826,080 A84,348
01 AtE22|Hl 25,200 105,200 280,000
Ol A ez 2
25,200,000 * 14 25,200
02 22234l 716,532 720,880 A4,348
Oelgsl d=23ld ME= 234,480
—2F (22 2:5M) 1,500,000& * 12& 18,000
—ANEEM2 (22 :2M1)
1,100,000& * 12& 13,200
—XEI |2 AE A, SEE(NSPPY)
423,500& * 403l & « 123 203,280
OHLY A= 7,200
~HEXE SUE BAY
50,000& * 13l& * 12& 600
— W2 IRFA=L AHUAMER
50,000& * 13| * 12& 600
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—2%NE HEA QHUWARR
50,0001 * 18l&1 * 128 * 202 1,200
—HHIE oA QIEHUAER
50,0002 * 13l + 128 600
—A4NE E5DRF AHUAMER
50,0002 * 18|40 * 122 600
~HZEA CHAEEMEH AHUARE
50,0002 * 1314 * 122 600
—OINS BAE OIEE QEUWAEE
50,0002 * 13l& * 128 600
—SAA OHLA QIEUAIER
50,0002 * 13|40 + 128 600
—#20I5E OIIA AHUARE
50,0002 * 13|41 * 122 600
=G ARA HUWAISE
50,0002 * 1314 * 122 600
—OIRISMI| HEE QEUANEER
50,0002 * 13l& * 128 600
ONAFSHE (FRURBOIBAL)EH ABR
10,0008 * 16744 * 122 19,200
OF T ENST & 2 (UNS)
2591 * 40,00021 * 122 12,000
OAOIBIAIDISUSE & 8
2591 * 100,000 * 43| 10,000
O2H2IS Y (LAN) M&X
500,008 * 52 2,500
OQIEY SHQl JI2PeiF L Jbel| 4,386
g2zl 30,0009 * 3421 1,020
—82 0o 99,0002 * 2421 2,376
—SHo S=H) 198,008 * 521 990
o™slc AEZ 20,0008 * 128 1,440
ONEZHISNHI (ALY SHRXSS) 408,481
—GIER0 RN 4] 224,594
B2 A Al AE
191,800,008 * 7/100 * 1.1 14,769
- REOBHSHANES MY
148,600,0002! * 7/100 * 1.1 1,443
- EXIB2I08, XY (0IASIHBIS), =
AR, 24 SEA
188, 159,0008 * 7/100 *1.1 14,489
CEXZE FEAABAPK (30N
109,273,0002 * 7/100 * 1.1 * 9/12 6,311
- MSEZELAAY (HAKA )
5,500,000%0 * 7/100 * 1.1  6/12 212
FEHOINES S8 YAH
128,607,0002 + 7/100 * 1.1 9,903
C A A AE
16,400,009 * 7/100 * 1.1 1,263
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18,300,0008 * 7/100 * 1.1
- I B e 0 Al A (UNS)
28,300,008 * 7/100 * 1.1
.6OH7C‘1X‘1E 8|,CE|J\3 Oxl-t”
713,950,000% * 7/100 * 1.1
L QIR GIECAIZREHI(487Y)
111,682,0008! * 7/100 * 1.1 * 8/12

22 500,000& = 7/100 *1.1
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49,409,000& = 7/100 = 1.1 » 9/12
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78,650,000& = 7/100 = 1.1
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,000& * 7/100 = 1.1 » 9/12
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10,000& * 7/100 = 1.1 = 9/12
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56,267,000 * 7/100 * 1.1
FAl M ™ILA XIS A (28 20H)
17,348,000 * 7/100 = 1.1 = 10/12
Al CCTV AIAE (22 0H)
18,273,0002 = 7/100 » 1.1 = 10/12
- A O Al A El
64,132,000 = 8/100 * 1.1
o X224
S22 0] Al AE!(UMS)
46,500,000 = 10/100 * 1.1
HesyTeAlAL
45,370,000 = 14/100 = 1.1 % 6/12
- Al EHIO| X
99,000,000 * 14/100 * 1.1
- ZMH Ol Xl DBMS
9,600,000 * 14/100
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37,750,000
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26,655,002 * 10/100 * 1.1 * 10/12 2,444
CBIGEAIAE S/
29,000,008 * 10/100 * 1.1 3,190
YR I0IA A
14,000,0002 * 10/100 * 1.1 1,540
Ros SBHBAAY
2,800,000% * 1.1 3,080
EXHAZSYBYE GISAT
35,689,6102 * 9/100 * 1.1 3,534
EXNRASHIIYS 0ISHAO
11,000,000% * 9/100 * 1.1 1,089
CEXBRABHHLYS HHOIAA O S/W
8,000,0002 * 9/100 * 1.1 792
—2OIEH R4 117,891
CHIEHD HHOIAAXFEHAIAES
48,000,0002 * 10/100 * 1.1 5,280
YU S 45,000,008 * 10/100 * 1.1 4,950
s SH(287Y)
35,001,002 * 10/100 * 1.1 * 10/12 3,217
CHEY NHE s (38 7Y)
49,507,0008! * 10/100 * 1.1 * 9/12 4,085
- 912 AYUTIAALYIPS(3E YY)
35,775,0002 * 10/100 * 1.1 * 9/12 2,952
CHIEHD WA ABINAC(4R T Y)
99,300,0008 * 10/100 * 1.1  8/12 7,282
- GIOIE{HI 0l A & Ok Al A 8
61,340,0002! * 10/100 * 1.1 6,748
- GIOIEIHIOI A B OIAIAE B4 (58 2Y)
39,705,008 * 10/100 * 1.1 * 7/12 2,548
- BEIIOHR (USB) B OHAIAE
55,800,008 * 10/100 * 1.1 6,138
TR, KHAFZ2) Al A (PO OF)
41,000,0002 * 10/100 * 1.1 4,510
CINEI, THEBRIAAY S (38 P0)
5.400,0002 * 10/100 * 1.1 » 9/12 446
HUSTA A
5,700,0002 * 10/100 * 1.1 1,727
CEHOIKN 2 SHAMY 2o
27,000,008 * 10/100 * 1.1 2,970
CEYUYT U NHEOAIAE
72,994,008 * 10/100 * 1.1 8,030
HYRSAI A
33,000,0002! * 10/100 * 1.1 3,630
CHEREYXAAE
70,548,0002! * 10/100 * 1.1 7,761
SNBOAAE
89,500,008 * 10/100 * 1.1 9,845
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- S B OFBRIAI A E (H/W)
148,273,008 * 7/100 * 1.1 11,418
 SEBOBRIAI A (S/W)
151,400,0002! * 10/100 * 1.1 16,654
- S OFHR| Al A B (0BNS)
50,000,0002 * 14/100 * 1.1 7,700
ONSHE BRI AL (-5 X)X 22l
6,845,009 * 14 16,845
403 XHXI GHRI S XH2 0| & 59,794 0 59,794
02 BII2HS 0l CHEHCH S AL B 59,794 0 59,794
OBFIE HAFH RN24 UL SN
854,195,2109 * 7/100 59,794
HoaFyl 23 979,200 1,171,300 A192,100
201 Yer2 Y| 109,200 124,800 A15,600
01 A2l 109,200 124,800 £15,600
Oge8ATE N P 109,200
—st2 90,0002 * 200user 18,000
—QmA 20,0002 * 300user 66,000
—EEN 710,008 * 20user 14,200
—2Ex 30,0002 * 300User 9,000
U IEELY 400,008 * SUser 2,000
207 R Y 350,000 100,000 250,000
02 &yl 350,000 70,000 280,000
OAMOIHENNSHE 75
300,000,000% * 14} 300,000
OBHATEO I ALY
50,000,000 * 14! 50,000
405 XtarF S| 520,000 946,500 426,500
01 XHAYLSEF S| 520,000 946,500 426,500
OFMNE AKX 22 L DALY 25
300,000,000% * 144 300,000
ORNIRSHY WAL 25
135,000,008 * 14! 135,000
OABEH 2 ZAH 7Y 85,000
—HYAIE(ALE) 1,500,0002 * 50CH 75,000
—2UE 500,0002 * 20CH 10,000
NANBS S Y 22,605 31,105 8,500
201 YBr2 ) 21,605 22,105 A500
01 A2l 16,405 16,905 A500
OBZLALFETESS TS 505
—FBARH EX 45,0008 * 522 * 13| 225
—NE2ELY
15,0002 * 2AI2 * 6% * 13] 180
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—MESY 20,0008 * 5= * 13] 100
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ONTLS IS AR
30,0002 * 10AI2t * 2571 7,500
02 IT2YH| 5,200 5,200 0
OXBSHNEY PCRA 24U
10,0008 * 21CH 2,100
ORI DS TRH SN2
10,0008 * 4CH 400
OFPIDST TRIE £ 200,002 * 4CH 800
O¥2AUST YERHE
4,000,0008 = 1CH * 10/100 400
OBBSHDEY 2| 150,002 * 102 1,500
303 Z&3 1,000 1,000 0
01 Zata 1,000 1,000 0
OZSUABHBESY AWM T4
1,000,0002! * 14! 1,000
N2TEENS DT 27 (2) 124,200 126,000 A1,800
= 49,680
Al 74,520
201 LBty 124,200 126,000 A1,800
= 49,680
Al 74,520
01 ALR eIt 124,200 126,000 A1,800
ONZRHLEBEIBAIAEY DEAL
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Al 74,520
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Al 9,789
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OZHIOIX PCECHZZ 8  8,000,000& * 14 8,000
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OelE8dMEZ2 Y eloldA AHE =
2,500,000 * 14| 2,500
OZHMHOIX A= A28 60,0008 » 123 720
OZHOoIX JIs=It 350,000& = 102/ 3,500
OSHOIX HAHEXHAAE SANE
18,997,000& * 13/100 * 1.1 2,717
Od 24 B&82e/AAd SN2+
15,543,0008 * 9/100 1.1 1,539
405 AH&HFESHI 100,000 0 100,000
01 HARESF=H 100,000 0 100,000
OZHOIXNAIAE SH(MH L AECIX)
100,000,000& = 14| 100,000
AMBIEES MY =8 20,265 20,265 0
201 YEH2HH| 13,845 13,845 0
01 AtR22iHl 8,995 8,995 0
OANBIEEs WM
10,000& * 5&  100& 5,000
ONGHEHH (FUHEOEANE) 2 3,995
-T2y EUY 200,000& * 12| » 1700 3,400
—JIEZ AIREZHl 5,00 » 35 » 17 255
—ZFH WU 10,0008 * 28 17 340
02 32234l 4,850 4,850 0
OF0HE0ESANE BFH =2
100,000 = 80CH * 50/100 4,000
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100,000& = 17CH * 50/100 850
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Al 833
Hes0l2ed 11,760 12,260 A500
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Oodsel stz 8,000,000& = 12& 96,000
Ood=tga M2 500,000 = 12& 6,000
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25,000& = 1703l & = 128 51,000
OANINEIIE MEZ 5,500,000& = 12& 66,000
OFUEs AIBE 100,000& = 304 = 128 3,600
OEIIItY E3H(ASB HAE) 1,400
-39z 8,000&  50CH 400
—HIIME HEts 20,0002 * 50CH 1,000
ongs 32 36,720
—ZNESANY(AME-TH)
3,000,000 * 123 36,000
—=sUdE= 60,000& 123 720
OXtsAl Matwet Xl 71,000,000&  5/100 3,550
OINEFEX & =D
56,420,000& * 5/100 2,821
O&E 3| 40,000& = 400CH * 5/100 800
OB MESD 1,300,000 = 4CH * 5/100 260
OSEds M3t 14,000,000& * 5/100 700
Olxs0iEs X 14,000,000& = 5/100 700
O3 Moty 12,680,000& = 5/100 634
OAMEEZAEHI wWEYI 700,000 = 4CH 2,800
ORUHMZE RXES 5,500,000& * 14 5,500
405 AHAHE SH 124,000 320,800 196,800
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OIPLEAIAE A5 100,000
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—BHA(SUSEYY ZII2H =225 RH
FBEIARA, 01 MP =20, 25)
4,000,0002 * 6CH 24,000
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= 12,261
Al 35,082
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SHEA L 22l 6,200 16,200 0
201 Y2 Y| 12,200 12,200 0
01 AL/t 12,200 12,200 0
OSHOE U AFLHMIIZSHEAL COM
10,0002 * 1, 10074 11,000
OAZ EHZA 222 &3
60,0002 * 5IA * 43] 1,200
202 o1l 4,000 4,000 0
01 2UoiH| 4,000 4,000 0
OSHZA 06l 20,0002 * 102 * 4% « 52 4,000
NS SHEAES QRS (E) 31,143 30,286 857
= 12,261
Al 18,882
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OF=0lo MSNEFA o2 4,164
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203 YREX| 4,200 3,780 420
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